Roll No.

DD-2649

B. A./B. Sc./B. Sc. B. Ed. (PartI)
EXAMINATION, 2020
MATHEMATICS
Paper Second
(Calculus)

Time : Three Hours
Maximum Marks : 50

e v v Aafard ¥ Uhe Y 9 dls a1 W s

1.

I | 1 T%AT & 3 FHI B |
All questions are compulsory. Attempt any two parts
from each question. All questions carry equal marks.

TPIE—1

(UNIT—1)

(@) HIANRT UHT F o sin”' x P YR DIOY TAT IS

@
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Expand e“ sin”! x by Maclaurin theorem and find the
general term.

afg -
y =[10g{x+m”2,
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al Rig T
(1+x2)yn+2+(2n+1)xyn+1+n2yn = 0.

If:

y =[10g{x+m”2,
then prove that :
(1+x2)yn+2 +(2n +1)x . +n%y, =0.
c-58 I & v ¥ Rig HIfvw & -

lim (xz + 4x) =5

x—1

Using € —0 method, prove that :
lim (x? + 4x) = 5

x—1
IBIE—2
(UNIT—2)
TR Sid EF?I"\;:I'Q :
P =xry+2y? —4y+x=0
Find the asymptotes :
P =x*y+2y* —4y+x=0
deh
y=x>+2x> +x+1
& fawg (0,1) W THA- BT FAIDRYN AT DITTY |
For the curve :
y=x>+2x> +x+1,
find the equation of the circle of curvature at the

point (0, 1).
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Trace the curve :

(UNIT—3)

dx BT A T HIFT |

Jan xsin x

01+ cos? x

Find the value of :

In xsin x

01+ cos?x

WRAAAT y2 = dax TAT x2 = 4by BRI UREE &=
BT &ABel S BITT |

dx .

Find the area enclosed by the parabolas y? = 4ax
and x* = 4by .

g x*+y? =ad? G2l x—ST&Ta%EIﬁHZW@TGIﬁH
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Find the volume of the solid generated by the

2 about

revolution of the circle x?>+ )% =a
X-axis-
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[4]
IIE—4
(UNIT—4)
(&) & IoTT -
(D3+2D2+D)y:62x+x2+x.
Solve :
(D*+2D2 + D)y = +x2 +x.
(@ & B :
(¥2y = 2292 ) bx = (x* = 3x2y)dy = 0.
Solve :
(¥2y =222 dx = (x* = 3x2y)dy = 0.

(@) & PR -

y=xp*+p.
Solve :
y=xp*+p.
FPIE—5
(UNIT—5)
(@) & BT :
dx _ dy _ dz
x(y2 _Zz) y(zz _xz) z(x2 _yz)'
Solve :
dx dy dz
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(@ =z I :
2
xz%—(xz+2x)%+(x+2)y=x3ex.
Solve :

2
xzﬁ—(xz+2x)ﬂ+(x+2)y=x3ex.

dx? dx
(@) & I :
@+Q+2x+y:0
dt dt
Q+5x+3y=0.
dt
Solve :
@+Q+2x+y:0
dt dt
Q+5x+3y=0.
dt
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